INSTITUTO CAMBRIDGE de Cultura Inglesa — October 2021

FINAL MARK

TIME: 1 hour

MATCH A LINE FROM “A” WITH A LINE FROM “B”. Write the corresponding

number from B in the box. There is one extra phrase in column B.

4 x 0.50 = 2 marks

A B B

a What are 1 Dance with Erick?

b Did she 2 hegoin the morning?

¢ Where does 3 They doing now?

d lwas 4 walked last night?

5 Drinking coke
CIRCLE THE CORRECT OPTION a, b or ¢. TO COMPLETE THE BLANKS. 4 % 0.50 = 2 marks

1- No,He at home because he is at work now. a) isn't b) aren’t c)is
2-  When did she ? a) came b) comes ¢) come
3- Marco always the house at 5 pm a) cleans b) cleaned c) is cleaning
4- Canthey football? a) playing b) play c) to play

uoLIVEWORKSHEETS



COMPLETE THE TEXT ABOUT MY LAST WEEKEND WITH THE CORRECT TENSE OF THE VERBS
BRACKETS. Use the Present Simple or Continuous, the Past Simple.

7 x0.4: 3 marks

Dear Pat,

We 1) (arrive) in Sydney three days ago. We 2) (not be) tired so we 3) (go) to the city centre

immediately. Sydney is a beautiful city. We are in love with it. We 4) (stay) in a hotel at the moment. We found a nice

hotel which isn't so expensive. Now we 5) (sit) in a park in the middle of Sydney and the weather 6) (not be)
cold at all.

Hope you're OK.

See you soon

Kim

COMPLETE THE QUESTIONS USING THE WORDS IN BRACKETS. Use the
4 x0.75 = 3 marks

Present Simple, Past simple or Verb to be.

1) Greg: English? (your brother/speak)
Sam: Yes, he does. Why?
Greg: We need an interpreter for our next project.

2) Liz: When married? (you /get)
Sue: Two years ago.

3) Alan: at home now? (you/stay)
Rob: Yes, I am staying.

4) John: Why so many warm clothes yesterday?
Paul: Because she was feeling cold.
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